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= 6,310
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[ia 8,519
FTACH 2 20l = = A 4t 300,000 225,000 75,000
402 RIZEX201 A 300,000 225,000 75,000
01 RIZEAt2E X 300,000 225,000 75,000
O 3= a Wole EsotA X&E
200,000,000 * 3ha * 50% 300,000
AMESIRA SZIMEAS 136,250 145,000 A 8,750
402 RI2EX=201 A 136,250 145,000 A 8,750
01 RIZERt 22X 136,250 145,000 A 8,750
O otA AMENH 240,000,000 * 14! * 50% 120,000
O &I g3+ Jt2 3II&EX X
6,500,000 » 5CH * 50% 16,250
SHEE S Mt 169,500 120,000 49,500
307 21201 A 150,000 120,000 30,000
02 2ltF &2 X 150,000 120,000 30,000
O XNAME A 150,000,000 150,000
402 QI2H X201 M 19,500 0 19,500
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~ B2 2S5z T
900,000 * 10CH * 50% 4,500
— otRA8 EED| 300,000 = 100CH * 50% 15,000
sPay =4 13,950 95,500 A 81,550
402 QI2H X201 A 13,950 95,500 A 81,550
01 RIZEAI=2E X 13,950 95,500 A 81,550
O s Es=s B 2N
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O UAMOls 42 I8 sIJ1H XN 23,500
— Ois==)| 3,700,000 = 10CH * 50% 18,500
— HIELs2 1,000,000 » 10CH * 50% 5,000
SN =2etE & AHEA 6,000 6,000 0
201 L2l 6,000 6,000 0
01 At 22l 2,000 2,000 0
O &XMA: ==Y =8 28|
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O Ot=, 1A F4HX 222l
2,000,000%258 = 4,000
SR ol o &H XA 200,000 200,000 0
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O = 2A0AHE GlZALS
1,000, 000%400ha*50% 200,000
Ols Z23d MIAMY 20,000 0 20,000
402 RI2EX=20l A 20,000 0 20,000
01 RIZEAI=2E X 20,000 0 20,000
O UsSH tsdxd N&
4,000,000 * 109024 *50% 20,000
W= MAT|IBE 2= 187,000 128,500 58,500
J| 45,000
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s 121,750
FTADIS NEXHEHE AEXA 112,500 62,500 50,000
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< 20,250
z 47,250
402 212t X 20 & 112,500 62,500 50,000
J| 45,000
< 20,250
s 47,250
01 RIZEAt=2E X 112,500 62,500 50,000
O FTAIZ2 XNYXHESHE MR
112,500, 000& 112,500
J| 45,000
= 20,250
s 47,250
ANE & =X Mo &5 74,500 62,500 12,000
402 QI2H X201 M 74,500 62,500 12,000
01 QIZEAt =282 X 74,500 62,500 12,000
O L==daDjgr &= X&
149,000,000 141 *50% 74,500
ASSAH=Z |4 815,000 951,800 A 136,800
< 31,000
s 784,000
SYLAS HEAY 660,400 625,000 35,400
402 RI2FXt20l 660,400 625,000 35,400
01 QIZERI 22X 660,400 625,000 35,400
O ClatAlT XT3 At 22,400,000%17ha*50% 190,400
O 1N3E gl =4 Mg
200,000,000 * 3ha * 50% 300,000
O 2o WM& &@s oA X
200,000,000 *0.5ha *50% 50,000
O Olsst*A(EIl) &X X
240,000,000%1.0ha*50% 120,000
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SHZE MADIEt =4 40,600 40,600 0
307 glz2tol & 40,600 40,600 0
02 QltFAHE X 40,600 40,600 0
O g da s K& 40,600,000 40,600
ANEESS=E s =4 64,000 50,000 14,000
< 16,000
[ 48,000
307 21201 A 64,000 50,000 14,000
< 16,000
e 48,000
02 2ltF & E X 64,000 50,000 14,000
O XN9EstE=s seEed =4
64,000, 000& 64,000
< 16,000
[ia 48,000
ASHY OS> EX =4 50,000 93,000 243,000
< 15,000
i 35,000
402 RIZEX20l A 50,000 93,000 A 43,000
< 15,000
e 35,000
01 RQIZEAt2E X 50,000 93,000 243,000
O ASK OtEHY=s X4
50,000, 000& 50,000
< 15,000
i 35,000
2Hzs ZHA WD 406,000 160,000 246,000
< 120,000
i 286,000
oS S MWD A 6,000 30,000 A24,000
201 ¢et24] 6,000 15,000 A9,000
01 At 2t 2l 6,000 15,000 A 9,000
O 23 2 #A 2L S SHN
6,000,000%* 14! 6,000
2HHEE =5 e 2 400,000 130,000 270,000
< 120,000
s 280,000
402 BI2HXH=01 M 400,000 130,000 270,000
< 120,000
[ia 280,000
01 RIZEAI=2E X 400,000 130,000 270,000
O Jdu==2 = o=t 25 XN
400,000,000 400,000
< 120,000
e 280,000
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